309 HEX. FAILFENITZELTIELWLWCELNHY EFITM?
=300 ( THd] LBEZ=HADH)
TNIFEAKRMIZEALRZETTM?
s i
= peer " b N: ]
EES EEH | MARLL ks
H5 136/  17.6%
A4A) 605 78.4%
7~HH 31 4.0%
&t 772| 100.0%
[2% : H29 354E 12.6%]
25, 65 Ll LG
a . . T8 65 FDEE
EIES BIES | Rt 6.2%
H5 58  14.4%
A4A) 319 79.4%
7~HH 25 6.2%
&t 402| 100.0%
(% : H29 3245 11. 4%
DA 65 m UL
(55152 ADEIS (55L& ADEIE
(st 1] €S|
#hats | 19.6% gaE [ 374
E M 1 22.0% 2 it 111%
=T EHhig 17.8% =ZT7IEHhIE 5.3%
KRR @5.3% Py 13.3%
Nz Hhis %165% oz thig 17.5%
KB iz 18.1% Kb 5.6%
40% 60% 80% 100% 0% 20% 40% 60% 80% 100%
(5552 ADEIE
(G
758 LIE T18.6% Hugchl Gl BRI AT R o o
oo o 1375 s, WREICIRD L ETERR SR,
- L o ERBITIHERICD D S BT D28 75
40~495% 3 21.3% e B2 72D LI AR R BT,
30~397% 25.7%
20~297% |
0% 20% 40% 60% 80% 100%

41



